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58 Eh 29.0 17.0 EdS B kEf-H me
718 B 29.0 21.2 == BE ZkEf-$ me
98| BEh 29.0 23.0 == BE R0 |me
118 N 20.0 17.0 =RE BE ﬁ%ﬁ th me
18 h 14.0 9.5 =RE BE k-t mR
3Al =Y 11.0 9.0 RE BE ﬁ%@ H BR
4FRIFIER _
oH DO BOD SS KEEHK
(mg/1) (mg/I) (mg/1) | (MPN/100ml)
=&(E]| 6.5~85 | 715LLE 1.0LLF [ 25L°F 50LLF
EHE(75%1E) - 8.7 0.5(0.6) 1 620
5A] 74 8.8 0.6 4 -
71H 15 7.6 0.5 <1 1100
9H 8.0 7.6 0.6 1 —
11A] 73 8.5 <0.5 3 -
1A] 72 9.9 <0.5 < 140
3H 75 10 <0.5 <1 —
RBEIER
NP INESD & ANEvOL | #E HiKEB  [ZxILkiE
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E#(E] 001LLT | FE#HE | 0.01LLF | 005LLTF | 0.01LLF | 0.0005LLF
E{E]  <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
58] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
71H - - - - - - -
98] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
118l <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
18] - - - - - - -
38] <o0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
SoO00X o ee |1L,2-0700[1,1-5500[X-1,2-250(1,1,1-F) 70
PCB 2y ekl Iy IFLY OTFLY oT4y
(mg/l) | (mg/I) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EE] ERH 10.02LLTF | 0.002LLTF | 0.004LLF | 0.02LLF [ 0.04LLF 1LLF
EH{E - <0.002 <0.0002 <0.0004 <0.002 <0.004 <0.1
58 - <0.002 <0.0002 <0.0004 <0.002 <0.004 <0.1
71H - - - - - - -
98 - <0.002 <0.0002 <0.0004 <0.002 <0.004 <0.1
118 - <0.002 <0.0002 <0.0004 <0.002 <0.004 <0.1
18] - - - - - - -
38 - <0.002 <0.0002 <0.0004 <0.002 <0.004 <0.1
1,1,2-ky4 [RUo0A(Fr5500I(1,3->9Aan — . —sen FARA
a4y | TFLY | FLv Jaxy | T77L| YRDY )%
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E#(E]0.006 L] 0.03LLF | 0.01LLF | 0.002LLF [0.006LLTF| 0.003LLF 0.02LLF
T15{E] <0.0006 | <0.003 <0.001 <0.0002 [ <0.0006 <0.0003 <0.002
58] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
71H - - - - - - -
98| <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
11 8] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
1A - - - - - - -
38| <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002




HEBNEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HEAE{E] 001LLTF 10.01LLF 10LLF 0.8LLF 1LLF
Eiy <0.001 <0.001 0.17 <0.1 <0.1
5H] <0.001 <0.001 0.15 <0.1 <0.1
18 - - - - -
9H] <0.001 <0.001 0.19 <0.1 <0.1
11H] <0.001 <0.001 0.21 <0.1 <0.1
1Al - - - - -
3H] <0.001 <0.001 0.11 <0.1 <0.1
EDHIEE
Nonmn| TEX | 2@ @ | 2E® | soofus [T
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EH{E - 0.31 0.013 - - - -
5A[ - 0.29 0.013 - - - -
18 - - - - - - -
9B - 0.36 0.012 - - - -
Al - 0.32 0.016 - - - -
1Al - - - - - - -
3| - 0.27 0.010 - - - -
BiLH MY | U ; o i (=3 S
IT/=| kS coD el > A EXEER
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) () (4 S/cm)
EH{E - - 0.9 <0.01 - - 59
58 - - 0.7 <0.01 - - 52
1H - - 0.7 - - - 47
9H - - 1.0 <0.01 - - 44
118 - - 1.9 <0.01 - - 45
18 - - 0.8 - - - 67
38 - - 0.5 <0.01 — — 97
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58] Eh 29.5 17.0 EdS BE kEf-H me
78] ®Bh 29.0 22.0 == BE ZEf-$ me
98| BEh 29.0 24.0 == BE k-t me
18] Bh 20.0 17.0 =RIE BE kEf-$ me
18] Bh 14.0 115 =RE BE k-t me
3Al =Y 11.0 9.5 RE BE Eixf-0 BR
4FRIBIER _
oH DO BOD SS KEEHK
(mg/1) (mg/1) (mg/1) | (MPN/100ml)
RElE| 6.5~85 ] 715LLEF 20LLF | 25LLF | 1000LLF
EHIE(75%1E) - 8.7 0.6(0.7) 1 1800
58] 7.1 8.4 0.6 4 -
1H 7.1 7.7 0.5 <1 3300
9H 75 7.6 0.7 1 —
11A] 7.2 8.5 0.7 2 -
18] 8.1 10 <0.5 i< 240
3H 7.4 9.9 <0.5 <1 —
RBEIER
NP INESDD E ANEvOL | #E HiKEB  [ZxILkiE
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
] 0.01LLTF | E#RE | 001LLF | 005LLF | 0.01LLF | 0.0005LLF JERH
E{E]  <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
58] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
71H - - - - - - -
98] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
118] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
18 - - - - - - -
38] <o0.002 <0.1 <0.005 £0.02 <0.001 <0.0005 -
Sooox we |12-2900(11-S50n(22-1,2-040(1,1,1-k)50
PCB "7, ~| MEERR |\ " 1oy | 'zFLy | mIFLy | nzsy
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
s JERE [0.02LLF ] 0.002LLTF | 0.004LLF | 0.02LLF |  0.04LLF 1LLF
EH{E - <0.002 <0.0002 <0.0004 <0.002 <0.004 <0.1
5H - <0.002 <0.0002 <0.0004 <0.002 <0.004 <0.1
71H - - - - - - -
9K - <0.002 <0.0002 <0.0004 <0.002 <0.004 <0.1
118 - <0.002 <0.0002 <0.0004 <0.002 <0.004 <0.1
18 - - - - - - -
35 - <0.002 <0.0002 <0.0004 <0.002 <0.004 <0.1
1,1,2-;y4 MY AaAFrSo00x|1,3-o49Aan — . o sed FARH
anzsy |TFLY | FLy | Fasy |TOIA| YRYY NI
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E#(E]0.006 L F[0.03LLF | 0.01LLF | 0.002LLF [0.006LLF[ 0.003LLF 0.02LLF
E{E] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
58] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
71H - - - - - - -
98] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
11 8] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
18 - - - - - - -
38| <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002




HEBEEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E(E] 0.01LLTF [0.01LLF | 10LLTF 0.8LLF 1LF
E9{E]  <0.001 <0.001 0.17 <0.1 0.3
58] <0.001 <0.001 0.15 <0.1 <0.1
18 - - - - -
98] <0.001 <0.001 0.21 <0.1 <0.1
11 8] <0.001 <0.001 0.20 <0.1 <0.1
18 - - - - -
38| <0.001 <0.001 0.12 <0.1 1.0
ZNDIER
N SR | 28 4 2FH | yookLs "F";f;?"
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EH{E - 0.29 0.015 - - - -
58 - 0.17 0.015 - - - -
18 - - - - - - =
98 - 0.38 0.015 - - - -
118 - 0.27 0.016 - - - -
18 - - - - - - -
38 — 0.34 0.013 - - - -
B IR | UUBR . o A = i s
IT/=| xS cobD el > AR BREER
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (BF) (uS/cm)
EH{E - 150 1.0 <0.01 0.01 - -
58 - 27 0.6 <0.01 <0.01 = =
71H = - 0.8 - - - -
98 - 74 15 <0.01 0.01 - -
118 - 39 1.8 <0.01 0.01 - -
18 = - 0.6 - - - -
38 - 440 0.7 <0.01 0.01 - -




